**BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE:** LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TAMARRON RICE HAVEST ROAD PHASE 2 STREET DEDICATION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 270 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS JUNE 18, 2025 LIA ENGINEERING, INC. D. FORREST

LJAEnginee

JUNE 19, 2025 1931-6082D (9.2)

**BIDDER NAME** 

BASE BID

1) HURTADO CONSTRUCTION COMPANY

\$1,458,888.88

2) R CONSTRUCTION CIVIL, LLC

\$1,482,776.15

90/120

i, Melony F. Gay, P.E., hereby certify these sist tabulations to be true and correct.

FRN F-1386

LIA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TAMARRON RICE HAVEST ROAD PHASE 2 STREET DEDICATION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 270 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS JUNE 18, 2025

JUNE 18, 2025 LIA ENGINEERING, INC. D. FORREST JUNE 19, 2025 1931-6082D (9.2)

1) HURTADO CONSTRUCTION COMPANY 2) P CONSTRUCTION CIVIL LIC

				1) HURTADO CONSTRUCTION COMPANY		2) R CONSTRUCTION CIVIL, LLC	
NO. ITEM DESCRIPTION	UN	VIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
WATER SYSTEM ITEMS  1. 8" P.V.C. WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEF INCLUDES BEDDING AND BACKFILL, PER FORT BEND COUNTY ST AS DIRECTED BY ENGINEER, COMPLETE IN PLACE		F	97	\$33.00	\$3,201.00	\$91.00	\$8,827.00
<ol> <li>12" P.V.C. WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DI INCLUDES BEDDING AND BACKFILL, PER FORT BEND COUNTY ST AS DIRECTED BY ENGINEER, COMPLETE IN PLACE</li> </ol>		F	1096	\$65.88	\$72,204.48	\$57.00	\$62,472.00
3. 8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	E	A	1	\$1,568.00	\$1,568.00	\$2,300.00	\$2,300.00
4. 12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	E	Α	2	\$3,000.00	\$6,000.00	\$4,000.00	\$8,000.00
5. 8" PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY IN PLACE	, COMPLETE E	A	1	\$900.00	\$900.00	\$750.00	\$7\$0.00
<ol> <li>12" PLUG &amp; CLAMP WITH 2" BLOW-OFF VALVE &amp; BOX ASSEMBL COMPLETE IN PLACE</li> </ol>	LY, E	A	2	\$1,000.00	\$2,000.00	\$950.00	\$1,900.00
<ol> <li>FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6' VALVE &amp; BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLAC</li> </ol>		A	4	\$8,000.00	\$32,000.00	\$7,550.00	\$30,200.00
<ol> <li>REMOVE AND DISPOSE EXISTING PLUG AND CLAMP AND BLOW AND CONNECT PROPOSED WATER LINE, INCLUDES ALL NECESSA ADAPTERS AND CONNECTORS, AND DISINFECTION OF EXISTING AS NEEDED, COMPLETE IN PLACE (ALL SIZES)</li> </ol>	ARY	A	1	\$8.00	00,82	\$875.00	\$875.00
<ol> <li>14" STEEL CASING FOR 8" WATER LINE, INCLUDES SPACERS AND COMPLETE IN PLACE</li> </ol>	END SEALS, L	F	41	\$64.00	\$2,624.00	\$66.00	\$2,706.00
<ol> <li>20" STEEL CASING FOR 12" WATER LINE, INCLUDES SPACERS AN SEALS, COMPLETE IN PLACE</li> </ol>	ID END L	F	35	\$81.00	\$2,835.00	\$83.00	\$2,905.00
11. TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	L	F	1193	\$1.00	\$1,193.00	\$1.00	\$1,193.00
12. CAST IRON WATERLINE FITTINGS, COMPLETE IN PLACE	TO	ON	0.56	\$20.00	\$11.20	\$28,000.00	\$15,680.00
<ol> <li>DEWATERING FOR WATER LINE, (AS DIRECTED BY ENGINEER), A DEPTHS, COMPLETE IN PLACE</li> </ol>	ALL SIZES, ALL	F	1193	\$20.00	\$23,860.00	\$20.00	\$23,860.00
14. METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR P SURVEYING, COMPLETE IN PLACE	ER GBI L	S	1	\$3,900.00	\$3,900.00	\$3,900.00	\$3,900.00
15. ALLOWANCE FOR FORT BEND COUNTY PERMIT FOR WORK INSI WAY, AS NECESSARY, COMPLETE IN PLACE	DE RIGHT OF L	S	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
16. MOBILIZATION, INCLUDES BONDS, INSURANCE, CONSTRUCTION ETC., COMPLETE IN PLACE	N PERMITS, L	2	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
17. INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLA		Α	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
SUBTOTAL WATER SYSTEM ITEMS				_	\$156,304.68	_	\$169,568.00
SANITARY SEWER ITEMS  1. 10° P.V.C. SEWER PIPE, ASTM D-2241, SDR 26, CLASS 160 20° AI CUT, INCLUDES BEDDING AND BACKFILL, PER FORT BEND COUN STANDARDS, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE		F	1159	\$158.00	\$183,122.00	\$142.00	\$164,578.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TAMARRON RICE HAVEST ROAD PHASE 2 STREET DEDICATION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 270 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

JUNE 18, 2025 LIA ENGINEERING, INC. D. FORREST JUNE 19, 2025

1931-6082D (9.2)

				1) HURTADO CONSTRUCTION COMPANY		2) R CONSTRUC	2) R CONSTRUCTION CIVIL, LLC	
		44017	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	
<b>NO.</b>	ITEM DESCRIPTION  STANDARD SANITARY SEWER MANHILE FOR 6"-24" SANITARY SEWER PIPES, (0'-8' DEPTH), INCLUDING INFLOW PROTECTOR AND RAMNEK AT ALL JOINTS, INCLUDES BEDDING AND BACKFILL, PER FORT BEND COUNTY STANDARDS, COMPLETE IN PLACE	EA EA	4			\$3,200.00	\$12,800.00	
3	EXTRA DEPTH OF SANITARY SEWER MANHOLE, (OVER 8' DEPTH), COMPLETE IN PLACE	VF	78.8	\$138.00	\$10,874.40	\$180.00	\$14,184.00	
4	FINAL ADJUSTMENTS TO SANITARY MANHOLES, INCLUDING EXISTING MANHOLES, COMPLETE IN PLACE	EA	4	\$88.00	\$352.00	\$400.00	\$1,600.00	
5	CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 10" SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	
6	10" SANITARY SEWER PLUG, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$160.00	\$160.00	
7	TRENCH SAFETY SYSTEM FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1159	\$1.00	\$1,159.00	\$1.00	\$1,159.00	
8	REMOVE AND DISPOSAL OF EXISTING 8" SANITARY SEWER, COMPLETE IN PLACE	LF	37	\$14.00	\$518.00	\$22.00	\$814.00	
9	DEWATERING FOR SANITARY SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1159	\$20.00	\$23,180.00	\$20.00	\$23,180.00	
10	VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1159	\$3.00	\$3,477.00	\$3.00	\$3,477.00	
втот	'AL SANITARY SEWER ITEMS				\$260,832.40	<del>-</del>	\$223,452.00	
	GE FACILITIES ITEMS  24" R.C.P. STORM SEWER, ASTM, C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, PER FORT BEND COUNTY STANDARDS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	955	\$90.00	\$85,950.00	\$85.00	\$81,175.00	
2	. 36" R.C.P. STORM SEWER, ASTM, C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, PER FORT BEND COUNTY STANDARDS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	LF	125	\$145.00	\$18,125.00	\$161.00	\$20,125.00	
3	. 60" R.C.P. STORM SEWER, ASTM, C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, PER FORT BEND COUNTY STANDARDS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE.	LF	59	\$358.00	\$21,122.00	\$450.00	\$26,550.00	
4	. 6' X S' R.C.B. STORM SEWER BOX CULVERT, ASTM C-1433, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, INCLUDES INTERNAL SEAL PER FORT BEND COUNTY STANDARDS ON ALL JOINTS, COMPLETE IN PLACE	LF	366	\$638.00	\$233,508.00	\$740.00	\$270,840,00	
5	. STAGE I - STANDARD 5' PRECAST INLET ("H-2") ALL DEPTHS, (INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLETS, COMPLETE IN PLACE	EA	8	\$1,078.00	\$8,624.00	\$1,600.00	\$12,800.00	
6	. STAGE II - STANDARD 5' PRECASE INLET ("H-2"), (INCLUDES TEMPORARY SAND- FILLED BURLAP BAGS FOR EROSION AND SEDIMENT CONTROL), COMPLETE IN PLACE	EA	8	\$1,518.00	\$12,144.00	\$2,800.00	\$22,400.00	
7	. TYPE "C" MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, PER FORT BEND COUNTY STANDARDS, COMPLETE IN PLACE	EA	4	\$2,398.00	\$9,592.00	\$2,900.00	\$11,600.00	

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TAMARRON RICE HAVEST ROAD PHASE 2 STREET DEDICATION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 270

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

JUNE 18, 2025 LIA ENGINEERING, INC.

D. FORREST JUNE 19, 2025

JUNE 19, 2025 1931-6082D (9.2)

				1) HURTADO CONSTRUCTION COMPANY		2) R CONSTRUCTION CIVIL, LLC	
		UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
NO.	ITEM DESCRIPTION  1. TYPE "C" MANHOLE FOR 42"-72" STORM SEWERS, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, PER FORT BEND COUNTY STANDARDS, COMPLETE IN PLACE	EA	1	\$10,000.00		\$7,750.00	\$7,750.00
:	D. TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER WITH REINFORCED CONCRETE TYPE "E" INLET TOP, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, PER FORT BEND COUNTY STANDARDS, COMPLETE IN PLACE	EA	1	\$4,200.00	\$4,200.00	\$3,500.00	\$3,500.00
1	D. JUNCTION BOX WITH TYPE "A" INLET TOP, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, PER FORT BEND COUNTY STANDARDS, COMPLETE IN PLACE	EA	2	\$38,000.00	\$76,000.00	\$17,500.00	\$35,000.00
1	I. JUNCTION BOX WITH TYPE "C" MANHOLE TOP, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, PER FORT BEND COUNTY STANDARDS, COMPLETE IN PLACE	EA	2	\$38,000.00	\$76,000.00	\$21,000.00	\$42,000.00
1	<ol> <li>FINAL ADJUSTMENT OF EXISTING AND PROPOSED MANHILE AND JUNCTION BOX RIM AND INLET THROAT AND OPENING ELEVATIONS, COMPLETE IN PLACE</li> </ol>	EA	10	\$88.00	\$880.00	\$400.00	\$4,000.00
1	<ol> <li>BREAK INTO EXISTING STORM SEWER JUNCTION BOX AND CONNECT PROPOSED 6' X 5' BOX CULVERT, INCLUDES CONCRETE COLLAR, ALL DEPTHS, COMPLETE IN PLACE</li> </ol>	EA	1	\$3,000.00	\$3,000.00	\$650,00	\$650.00
1	I. TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	1505	\$1.00	\$1,505.00	\$1.00	\$1,505.00
1	5. STORM WATER POLLUTION PREVENTION PLACE COMPLIANCE, INCLUDING CONTRACTOR BOOKLET, NOI AND NOT, COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
1	5. DEMUCK AND FILL EXISTING DRAINAGE SWALE, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE	LF	1031	\$3.00	\$3,093.00	\$3.00	\$3,093.00
1	7. DEWATERING FOR STORM SEWER, (AS DIRECTED BY ENGINEER), ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	1505	\$20.00	\$30,100.00	\$20.00	\$30,100.00
1	B. EXTRA CEMENT STABILIZED SAND, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	CY	500	\$40.00	\$20,000.00	\$40.00	\$20,000.00
1	). MANDREL INSPECTION OF ALL STORM SEWER LINES, ALL DEPTHS (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1505	\$3.00	\$4,515.00	\$3.00	\$4,515.00
2	D. COFFER DAM, COMPLETE IN PLACE	EA	1	\$3,500.00	\$3,500.00	\$5,300.00	\$5,300.00
2	1. REMOVE COFFER DAM, COMPLETE IN PLACE	EA	1	\$3,500.00	\$3,500.00	\$1,000.00	\$1,000.00
UBTO	TAL DRAINAGE FACILITIES ITEMS				\$626,358.00	_	\$604,903.00
	G AND APPURTENANCES ITEMS  1. 8"REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	4697	\$58.88	\$276,559.36	\$67.00	\$314,699.00
	2. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2063	\$3.98	\$8,210.74	\$4.00	\$8,252.00
	3. 8" LIME/FLY ASH STABILIZED SUBGRADE MANIPULATION, INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	5156	\$3.00	\$15,468.00	\$4.50	\$23,202.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: UA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TAMARRON RICE HAVEST ROAD PHASE 2 STREET DEDICATION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 270 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

JUNE 18, 2025 LIA ENGINEERING, INC. D. FORREST JUNE 19, 2025 1931-6082D (9.2)

				1) HURTADO CONSTRUCTION COMPANY		2) R CONSTRUCTION CIVIL, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
	3% LIME BY WEIGHT, 19LB/SY FOR SUBGRADE, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE	TON	48.98	\$358.00	\$17,534.84	\$355.00	\$17,387.90
5	. 7% FLY ASH BY WEIGHT, 43LB/SY FOR SUBGRADE, QUANTITY TO BE PAID OLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE	TON	110.85	\$135.00	\$14,964.75	\$150.00	\$16,627.50
6	FINAL SITE GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$8,235.64	\$8,235.64	\$10,000.00	\$10,000.00
7	UTILITY SPOILS TO BE USED FOR SITE FILL OR TO BE HAULED NO GREATER THAN 0.25 MILES WITH OFF-ROAD TRUCKS, INCLUDES EXCAVATION, HAULING, PLACING, AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LOOSE LIFTS AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	2818	\$1.28	\$3,607.04	\$3.00	\$16,627.50 \$10,000.00 \$8,454.00 \$19,395.00
8	. ROADWAY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN THE PROJECT LIMITS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	3879	\$3.98	\$15,438.42	\$5.00	\$19,395.00
9	REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$0.01	\$0.01	\$1.00	\$1.00
10	INSTALL AND MAINTAIN TEMPORARY TYPE III BARRICADE, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$1,800.00	\$1,800.00
11	. 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE	EA	4	\$20.00	\$80.00	\$15.00	\$60.00
12	PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS, PAVEMENT STRIPING, AND REMOVAL OF EXISTING PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLACE	LS	3	\$15,913.00	\$15,913.00	\$3,600.00	\$3,600.00
13	. LIGHT CLEARING AND GRUBBING OF R.O.W., TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	AC	1.42	\$800.00	\$1,136.00	\$7,000.00	\$9,940.00
14	LIGHT CLEARING AND GRUBBING OF PUBLIC UTILITY EASEMENTS, TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	AC	1	\$800.00	\$800.00	\$5,200.00	\$5,200.00
15	BROADCAST SEEDING, FERTILIZING AND WATERING, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	AC	3.96	\$500.00	\$1,980.00	\$500.00	\$1,980.00
16	. INSTALLATION, MAINTENANCE, AND REMOVAL OF REINFORCED FILTER FABRIC FENCE SWMHCA SPECIFICATIONS NO.4311, 2 FEET OFF OF B.O.C., (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	2107	\$1.00	\$2,107.00	\$1.00	\$2,107.00
17	. INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$500.00	\$500.00
18	. MISCELLANEOUS DRAINAGE SWALES, V BOTTOM, GRADE TO DRAIN, INCLUDING HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	LF	337	\$4.00	\$1,348.00	\$4.75	\$1,600,75

BID OPENING DATE: BID OPENING LOCATION: **TABULATION BY:** LIA J

TOTAL AMOUNT BASE BID

CONSTRUCTION OF THE WATER, SANITARY SEWER, DRAINAGE FACILITIES, PAVING AND APPURTENANCES TO SERVE TAMARRON RICE HAVEST ROAD PHASE 2 STREET DEDICATION FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 270

2) R CONSTRUCTION CIVIL, LLC

\$1,482,776.15

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

JUNE 18, 2025 LIA ENGINEERING, INC.

D. FORREST 9, 2025 082D (9.2)

BULATION DATE: JOB NO.		JUNE 19, 2025 1931-6082D (9.2)				
				1) HURTADO CONS	TRUCTION COMPANY	IPANY
10.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	_

		,					
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
19.	REINSPECTION FEE, PER FORT BEND COUNTY REQUIREMENTS, AS NEEDED, COMPLETE IN PLACE	EA	1	\$600.00	\$600.00	\$10,000.00	\$10,000.00
20.	REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	41	\$28.00	\$1,148.00	\$24.00	\$984.00
21.	24" WIDE SOD STRIP TO BE PLACED BEHIND BACK OF CURB (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LF	2063	\$1.00	\$2,063.00	\$1.00	\$2,063.00
22.	MISCELLANEOUS DRAINAGE SWALES, V BOTTOM, GRADED TO DRAIN, INCLUDING HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	LF	500	\$4.00	\$2,000.00	\$4.00	\$2,000.00
23.	EXTRA CEMENT STABILIZED SAND, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	LF	500	\$40.00	\$20,000.00	\$40.00	\$20,000.00
24.	METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER GBI SURVEYING, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
25.	AS BUILT SURVEY OF FINAL LOT GRADING, BERMS, SWALES, AND FILL AREAS, INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
SUBTOT	AL PAVING AND APPURTENANCES ITEMS			-	\$415,393.80		\$484,853.15
BID SUN	IMARY				<b>1 U</b>		
WATER	SYSTEM ITEMS				\$156,304.68	<b>,</b>	\$169,568.00
SANITAR	Y SEWER ITEMS				\$260,832.40		\$223,452.00
DRAINA	SE FACILITIES ITEMS				\$626,358.00		\$604,903.00
PAVING	AND APPURTENANCES ITEMS		7	~	\$415,393.80		\$484,853.15

\$1,458,888.88